[AT0.0% —

040.6 J_ 0-05

Power rable gland Ex db Ex th :

@10-@16 + clamping module

— 93
© [@o.08 o] - @
L p—— N
3 : i \5 : <
4] © ) A
o R \\ "| \
o )
o g et —— — — o — e — - ] — . — o — — . — . — . — L — 1 S— - — 0| -
g 3 i
= ;
& @ @ i
| L il D ¢
2.5 ! 8 \
L x 5.8 on @75
070 2340.6 L Max 35 Max
Sensor cable gland Ex db Ex tb
?10-@16 « clamping module
W ITH KEY IP Motor P64 1P65
i — i I1 2 60 Ex db 11B T4 Gb IP6S
Supply voltage - 24V = +10% Pratection Il 26 Ex db 118 T4 Go IPod Ex tb ||)?[ T135'C Db 1P&S x
Static torgue « |EC/EN 60079-0 : = |EC/EN 60079-0 :
Explosive almospheres. Explosive atmospheres.
Part 0 : Equipment Part © : Egquipment
W ithout brake| With orake EX310 General requirements. General requirements.
HBestb-—\— 20°C | 2 Nm « IEC/EN 60079-1 : « IEC/EN 600791 -
7.8 k 3.7 k Explosive atmospheres. Explosive atmospheres.
-0 KO £ KQ 100°C 1.8 N Part 1 : Equipment protection Part 1 : Equipment protection
| : m Standards |by flameproof enclosures “d”. by flameproaf enclosures “d”.
35 ‘ % Certification : ELEu SR ;
- INERIS O3ATEXO060X Exlosive abwepnerss:
. INE 15.0060X i B e e
2340.6 y
—_—__" EXETOE B’ITTT
_ . , Torgue range ||l Winding | T
Feedback option Resolver Encoder Resolver Hiperface Hiperface ‘ Low cost Sensorless (depends on length) | (depends on speed) 0 - IP6L
(feedback Letter) ratio 0.5 (A)] CR&10 (E) lratio 0.3 (G)] SKS36 (R) SKM36 (5) | encoder (X) (Y] I I I I K 1P&5
Brake e
withaut brake |, L 225 A . Resolver - ratio 0.5 2 : Without brake Shaft
Akl (mm) E : Encoder CR410 5 : With brake 0 : Plain shaff
% G : Resolver - ratio 0.3 1: With key
< R : Hiperface singleturn SK536
e . L S : Hiperface mulfiturn SKM36
with brake {mm) 255 X : Low cost encoder
Y : Sensorless
|[DNNE[TIDNS VARIANT ON SHEET 2/2
- - Sheet : 1/2
. b | E
Masse ceneral Pessie] 170909 | o0 [vise [ghp 7] )0 ]?/f’ 3-® EX300 = TF I lE 1513
tolerances  |w | |AM 24108 22/04/13 SO e Echelle A3 %
OIN IS0 BB [aM 23600 27/0L/11 YG E |AM 24677 27,0617 TD :
L 2 A 4 Bd Eiffel, 5 40DSO E
2768 mK 18 [ [AM 23304 10/12/09 SD D |AM 24578 22/07/16 SD O | e G cae OUTLINE DRAW ING 344487

~7




A A
ver an 410 ¢
Fe fter FAWAL
B U : Phase U
V : Phase V
U : Phase U W : Phase W
V : Phase V TH- : Thermic protector
W : Phase W TH+ « Thermic protector
TH- : Thermic protector BR- : Brake- (option)
TH+ : Thermic pratector BR+ . Brake- (option)
BR- : Brake- (option) 1+ Encoder Us
BR+ ; Brake+ (option) Cantification - 2 : Encoder gnd
S1 : Resolver 1 v INERIS O3ATEX0060X 3 : Encoder refSIN
$2 : Resolver 2 Wi Todmnt 4 : Encoder refC0S
S3 : Resolver 3 5 : Encoder DATA «
Sk : Resalver & & : Encoder DATA -
R1 : Resolver S 7 : Encoder +SIN
R2 : Resolver & sz 53 Sk EALE R 8 : Encoder +C0S
B . Shield option (screw M3) MeCose |S2= S!” t JR1e E’{i.ra”.[’” bd B : Shield option (screw M3)
S3 = Cos - | S4 = Sin - |R2 = Exitation -

@: Ground Rotar is rotating in clockwise viewed from shafl end view. @" Ground SCALE : 372

; ENCODER SETTINGS

Sensorless connection Snoiitnz sl e bacs, AR caiti
Eeedhack letter . A/E/G E r: R/

U : Phase U
V : Phase V¥
W : Phase W

TH- : Thermic protector
TH+ : Thermic protector
BR- : Brake- (option)
BR+ : Brakes (option)
T2 &

Motor powered by direct
turrent at the current
nominal value [W+ and V-).
The shift is 90" electrical.

Motor powered by direct
current af the current
nominal value (W+ and V-].
Value in encoder memory is
205.

Low rost encoder setfing
Feedback lefter : X
Engine driven clockwise
shaft end side. Switching
signal V is in phase with
FEM UV.

2 . AN U : Phase U
i: B v V : Phase V v
4o: BN W : Phase W
B Z TH- : Thermic protector
53 2N TH+ : Thermic prefector
7:0 BR- : Brake- (option)
B : Vit AN BB BR+ : Brake- (option) SCALE - 372
B : Shield option (screw M3) SCALE : 372 B : Shield aption (screw M3)
@: Ground @: Ground
= . - Sheet - 2/7
Hname b P w0909 | o0 |vie PEGITH 50 |2 | -3@ EX300 Format | F | E [ S |6 ]|
folerances s [ ¢ |AM 24108 22/04/13 SD ~ Echelle m A3 X
s [[efmomrons  Jowrermer D 1ao | sstseas | OUTLINE DRAWING | 344487

V




round screw MSx12

0£0.6

L [o.08]4]

T —
(-] -
of 9 ©
f=] o S S R S e A —— FESSercRe— S | B e e e i i i { g
8 3 Bp- S
= H e ®
o
= |
Pawer cable gland Ex db Ex tb 3 10.5
@#10-¢816 + clamping module :
ensor cable gland Ex db Ex tb
@7-B12 -+ clamping module 40£0.6 L Max 35 Max
- v IP Motor P&k IP65
__—— HAFT EN WEIGHT BRAKE Protection 11'2 GExdb 1B Ts Gh IP&G Hgi ﬁ? 1E|T[,th!13|5qETEE:E?PL§65
Supply volfage : 2LV === +10% « IEL/EN 60079-0 : = IEC/EN 60079-0
Stafic forgue Explosive atmospheres. Explosive atmospheres.
M6 x 16 - - Part 0 : Eguipment Part O : Equipment
Motor [Withour brake W ifh orake General requirements. General requirements.
¥ P EX420 EXL30
E.,,__ I 0 W A Sy b 7Kg 8 kg = IEC/EN 60079-1 :  IEC/EN 60079-1 :
D\i = 0 5.5 N.m 5.5 N.m Explosive atmospheres. Explosive atmospheres.
Z = Part 1 : Eguipment protection Part 1 : Equipment orotection
H 21584 @ A 8 Ko 9 Kg 100t & N.m & N.m Standards |hy flameproof enclosures “d”. by flameproof enclosures "o,
s = Certification : = [EC/EN 60D79-31 -
L 12 | INERIS OLATEXQ097X Explosive atmospheres.
— INE 15.0060% Part 31 : Eguipment dust ignition
o406 pratection by enclosure “I°.
N EXb o1 Bl
| Torque range ||l Winding | [T
depends on length) | (depends on speed) 0. IP64
Feedbatk options Resolver Resolver Low cos! Sensorless | Hiperface Higerfare Higerface Hiperface tdeg 3 2 P 1+ |P6S
{feedbatk letter]  [ratio 0.3 (A) {ratio 0.3 (@) | encoder (X) 8¢} SKS36 IR) | SKM36 (SI | SRS50 (T) | SRMS0 (U) [ Feedback 10 Brake 1 4
A : Resolver - ratio 0.5 2 : Without brake ™ spart |
Withaut brake [L (mm) 265 285 305 G : Resolver - ratio 0.3 5 : With brake 0 : Plain shaft
g R : Hiperface singleturn SKS36 1: With key
= ) S : Hiperface multiturn SKM36
With trake |L (mm) 290 e EE T ; Hiperface singleturn SRS50
U : Hiperface multiturn SRM50
withoul brake |L (mm) 290 in 30 X : Low cost encoder
4 ¥ . Sensorless
=
CJ— - [CONNECTIONS VARIANTS ON SHEET 2/2
- Sheet : 1/2
Gorerat  Pessie] 29,0709 | sp | vise lo3bsfra Do | 287 30 EX400 T TE s 16 1
folerances o ['c [aM 24229 03/12/13 AH ) Echelle m A3 X
OIN IS0 E|B |AM 26108 22/04/13 SD E |AM 24677 27/04/17 TO 4 Bd Ei
2768 mKk  |E 1.2 Y1604 LOWGVIC CEAEN O U T L | N E D R A W | N G _% L|. L}, 6 /] 9 £
2 A |AM 23304 1012209 SD D |AM 24578 22/07/16 SO =2

\4




Resolver connection Hiperface ronmertion
Feednack leffer . A/G i e b Feedhack letter : R/S/T/U
V : Phase V B
U : Phase U W : Phase W
V . Phase V TH- : Thermic profector
W : Phase W TH+ : Thermic protector
TH- : Thermic protector BR- : Brake - (opfion)

TH+ : Thermic protector BR+ ; Brake + (opfion)

BR- - Brake - (option)

1 : Encoder Us
BR+ : Brake + (option) s o 2 + Encoder gnd
i Certification :
51 : Resolver 1 v INERTS O4LATEXOD97X 3 : Encoder refSIN
52 : Resolver 2 e 4 : Encoder refC0S v
S3 : Resolver 3 5 : Encoder Dafta +
Sk : Resolver 4 6 : Encoder Data -
R1 : Resolver 5 A 7 : Encoder +SIN
1
R2 : Resolver 6 S2. g3 S& - SCAE: 32 8 - Encoder +C0S
B - Shield option (screw M3)| S1 = Cos + | S2 = Sin - |R1 = Exitalion - B : Shield option (screw M3) 09 efSIN refcos
. Ground 83 = Los - 5S4 = Sin - |RZ = Exitation - G SCALE - 372
@' Rotor is rotaling in clockwise viewed from shaft end view. @ round
i ENMCODER SETTINGS
i n : ; =
i - Sensorless connection — e R sl
. vk F tter ; R/
Feedback letter : X Feedback leffer : Y e
irect Mot red by direct
U : Phase U & . ant % Tt Juvant Current af e turrent
V : Phase V nominal value (W« and V-). nominal valle fWis and ¥-);
. The shift is 90" elecrrical. Value in EHE%UEI' memary is
W : Phase W S
TH- : Thermic profector m%eua;ugs%:re_nsgm Lmr{F_:gs!_gﬂmuL@H_nu
Feeduack letter - T/ Feedback letter : X
TH+ : Thermic protector :
BR- : Brake - (option) ":nu.lu::er?rn gfrfﬁ:hgurn;;ﬁf SE; ?”Snﬁ'rl_—,"ai';.“s'lf?‘r‘iﬁﬁg
o nominal value (W and V-). signal V is in phase with
BR+ : Brake « (option) Value in enru;lgr memory is FEM Uv.
1. A i
2 AN U : Phase U
3:B v V : Phase V v
b BN W : Phase W
5:1 TH- : Thermic profector
6 : I TH+ : Thermic protector U
7:0 BR- : Brake - (option)
8 : Vi AN 8 B\ BR+ : Brake + (option)
B : Shield option (screw M3) SCALE = 372 B : Shield option (screw M3) Seale - 32

@: Ground @: Ground
_ Sheet : 2/7

General  [oessine| 29/07/09 r S0 l"’"se b%r/’!‘ﬂ bp |))@ —-3-@ Format [ F [E |S |G ||
= e 00

folerances  fo fc faM 26229 03/12/13 AH Echelle A3 X
2|8 [am 26108 22/00/13 SO E [AM 24677 27/06/17 TD ik
2166 K ¥ [ Jan 23300 10;12;09 S0 D |am 24578 22/0'}“:16 sD 12 | siisias | OUTLINE DRAW ING 344619 i

V




round screw M5

|

B0 Max

2 9 =
8 g (= 3
= =y
!
ol
-
[]
= E ;h
= =
pr— --h""'\-u-.__
I \_p' 3.5 14
ensor cable gland Ex db Ex b : ower cable gland Ex db Ex th 5040.6 | Max
@10-@16 + ctlamping module @10-@16 + clamping module
WITH KEY | IP Mater P&t 1P&5
- SHAFT END WEIGHT ERAKE Protection| 11 2 G Ex db 11B Tk Gb iP6L o D T5. . hes
M8 x 18 o Supply voltage : 24V === +10% » IEC/EN 60079-0 : « IEC/EN 60079-0 :
= Static torgue Explusoi\reEatmusphErEs, ganEiveEarmusmWes.
: 2 art 0 : Equipment art 0 ; Eguipment
= Motor (W ithout brake W ith brake General requirements. General ragquirements.
E ) —— N Sl i e —5 . EX620 EX630 E' ;EE/_EN 6?079-'11 x E' IEU_EN 6E0w|;|1 £
8 xplosive atmospheres. xplosive afmospheres.
1] %‘ 10 Ko 1 Kag ° Part 1 - Equipment protection Part 1 : Equipment protection
i 20 °C 12 N.m 12 N.m Standards |by flameproof enclosures “d”. by flameproof enclosures “d”.
Certification : « |EC/EN £0079-31 :
5 40 2742 2 100 °C B N.m 8 N.m INERIS OLATEX0032X Explosive atmospheres.
| 2 12.5 Kg 13.5 Kg INE 15.0060% Part 31 : Equipment dust ignifion
= Wl 4 profection by enclesure "1,
| S5040.6 S
N X6 E B e
I Torgue pange ||l Winding | e
. i - E , (depends on length) | (depends on speed) 0 - P&k
Feedbark options Resolver Resolver Low cost Sensorless Hipertace Hiperlace Hiperface Higarface Endat Endat 1. |P&5
(feedhack Letter) [ratio 0.5 [A)|ratio 0.3 (G)| encoder (X1 il SKS36 (R) | SKM3S (S) | SRSSO (T) | SAMSD @ |ECH 1173 (V) [EQN 1125 (W) | Eeedhack 1T Brake 1 Z
A : Resolver - ratjo 0.5 2 . Without brake | Shaft 1
Witheut brake|L {mm) 275 305 375 G : Resolver - ratio 0.3 5 : With brake G : Plain shafl
2 R : Hiperface sinpleturn SKS36 1 FSe
2 S : Hiperface multiturn SKM3& ¢ With key
| With brake (L tmm) 100 130 150 T : Hiperface singleturn SRS50
U : Hiperface multiturn SRMS0
vV : Endat singleturn ECN 1113
W ithout brake|L tmm) 300 130 150 W : Endat multiturn EQN 1125
= ¥ 3 Iéuw tnlt:.T encoder
3 : Sensorless
I - = |CONNECTIONS VARIANTS ON SHEET 2/2 |
_ Sheef : 1/2
Masse Ganaral [Dessine| 07/10/09 l S0 | Vise |a§6}‘/ﬂ IJP }ﬁ|; —Ea-@ EX 60 O Format | F [E [ S |G | |
folerances T | C [aM 24229 03/12/13 AH P Echelle m A3 X
DIN 150 |E|B [aM 26108 22,0613 SD E |aM 24677 27/06/17 TD 1.7 & Bl FiftelL £5 40800 C
2768 mK 12 MaTam 23304 10/12/09 SO D [AM 24578 22/07/16 SD : 2460 LOaYC: CEDEX UU TL NE D RAW | NG 31# A 5 J O E

V




F-“

Feedback letter

R/S/T/U

U ; Phase U
V : Phase V
U + Phase U W : Phase W
V : Phase V TH- : Thermic protector
W : Phase W p—_ TH+ : Thermic protector
TH- : Thermic protector IECEX BR- : Brake - (option)
TH+ : Thermic protector 53 BR+ - Brake - (option)
BR- : Brake - (option) S AR = 1 : Encoder Us
BR+ : Brake + [option) a1 TH- ; f. 2 : Encoder gnd
1. 1 i ertification : )
3+ Reculuer a2 T" INERIS OLATEX0032X 3 : Encoder refSIN
S2 : Resolver 2 INE 15.0060X% L : Encoder refC0OS
53 : Resolver 3 § . Encoder Dafa +
St : Resolver 4 Stale : 273 6 : Encoder Data -
R1 : Resolver 5 T . Encoder « SIN
22 :SE?T;"EPT,(’ t iy [ 512 Cos + 52 = Sin + [R1 < Exitation + 8 : Encoder + COS
: Shield option (screw p— St - Sin - IRZ < Exifation - B : Shield opfion (screw M)
@: Ground Rotor is rotating in clockwise viewed from shaft end view. @5 Ground Scale : 273
e fillagel Endat connecfion Low cost encoder connection Sensorless connection
V : Phase V teedhack letter : V/W k letter - Feedback lefter - Y
W : Phase W U : Phase U
TH- - Thermic protector V : Phase V
TH+ : Thermic pretector W : Phase W
BR- : Brake - (opfion) TH- : Thermic protector
BR+ : Brake « [(option) TH+ : Thermic protector
1 : Encoder Up 5V £5% BR- : Brake - (option)
2 : Encoder QV BR+ : Brake - (option)
3 : Encoder A + 1: A 9:u
4 ¢ Encoder A - - 2 AN 10 : UN U : Phase U
S : Encoder B -+ ; i:B M:V Y : Phase V
6 : Encoder B - Lo By 12 VN W : Phase W
7 : Encoder OATA 3 8z 13w TH- : Thermic profector
8 : Encoder DATAN EERVAN T WA TH+ : Thermic protector
9 : Encoder CLOCK 7:0 BR- : Brake - (option)
10 : Encoder CLOCKM B : Ve BR+ : Brake + (option)
B : Shield option (screw M&4) B : Shield option (screw M4) B : Shield opfion (screw M4)
@: trouna Scale : 2/3 | Ground State : 2/3 |@) Ground Stale : 2/3
ENCODER SETTINGS
Resolver setting Hinerface SKS/SKM setting Hiperface SRS/SRM setting Endat_setting i
Feedback letter - A/G Feedback letter ; R/S Feedback lefter ; T/ Feedhack letter : V/W Feedhark lefier - X
Motor powered by direct Motor powered by direct Motor powered by direct Mofor powered by direct Engine driven clockwise
current ab the current current at the current current at the current current at the current shaft end side. Swilching
nominal value (W+ and Y-}, nominal value (W+ and V-J. nominal value (W+ and ¥-]. nominal value (W+ and V-). signal V is in phase with FEM
The shift is 90' electrical, Value in encoder memary is 205. Value in encoder memory is 1638. Value in encoder memory is 410. uv.
- Sheet : 2/2
Masse Genergl  |Pessine] 07/10/09 I S0 I‘”“ IO}/G)’/?? IJ& |‘j§!1 —3-@- EX6OO Format | F |[E [ S |G |1
folerances  [eTC [aM 24229 03/12/13 AH P Echelle A3 [ x |x
Div 1so | E[B |am 24108 22/06/13 SD E [AM 24677 2770617 TO SR, S
2768 mK 12 [B 1AM 23304 10/12/09 SO D |AM 24578 22/07/16 SD 1:2 508 LOHGY)E LEUEX OUTLINE DRAW ING 344550 E

V




Power cable gland Ex db Ex tb :
10-@16 + clamping module

ensor cable gland Ex db Ex tb - 0+0.6
@10-@16 - clamping module [~ Jo.05 .
S e 1
ETA © |@0.1]A [A]
e 5 v
— |—|— —
. =|i') 5
uny
o
S A ° o
3 S o
S iy (g e B B Pt === BT o 2 =
B = ksl
= T 8 ® ®
0
5
LS I——-_._‘
|_——'———— \__.l,_/
- 3.5 12 't x 917 on D165
ifting eye bolt @20 SH40.6 ) L Max 36 Max L5, {
WTH KEY SHAFT END JEIGHT RAK IP- Motor |P&4 1Pa5
[ . (1 2 60 Ex db 118 Tt G IP&S
SLIIJ[J_L‘;' voltage : 2Ly — +10% Pratection Il 2 G Ex ob |IB T4 Gb IP&L Fx th 111C TA38°C Ob 1P&S
M12 x 28 || Motor|w ithout brake W ith brake| || Sfatic forque « [EC/EN 60079-0 . = IEC/EN 60075-0 ;
Explosive atmospheres. Explosive atmospheres.
= Part 0 : Equipment Part 0 : Equipment
o 22 kg 25 ka EX820 | EXBLO | EXB6O General requirements. General requirements.
¥ cmpm—— e = - « [EC/EN A0079-1 : = EC/EN 600751 -
E < 58 14 20°C | 36 Nm | 36 Nm | 36 Nm ExulruglivEEarmﬂsuhfres. 5 Expguel;liveEarmosuhter'es,' i
ki pe art 1 : Equipment protection art 1: Equipment pratection
b 50 g 4 g 100°C | 32 Nm | 32 Nm | 3Z Nm Standards |by flameproof enclosures “d”. by flameproof enclosures “d”.
2 P = IEC/EN 60079-31 :
=) 38 kg 41 kg Cerfification : Explosive afmospheres.
= INERIS OSATEXD0&1X Par: 3}1_: Egu:umelnr r!usr”rl_gnmnn
1 rotection by enclosure 1.
58+0.6 4 lj INE 15.0060% p ¥ ul
D IMENSIONS EX8_0FE__B7
Feedback opfion Resolver Low cost Sensorless Hiperface Hiperface Hiperface Hiperface Endat Endat T TTT
(feedback letter) |ratio 0.5 [A)| encoder (X) (Y] SK536 (R SKM3& (5) SRS50 (T) SRMS0 (U)  [ECN M3 (V) [EQN 125 (W) |'|'gr‘g e _range | e '_l_‘
T ? {depends on length) }ﬁ—,ﬁ_-&ﬁ'ﬁ on speed) P
2 without brake (mm) 290 310 325 [ 3 " ] 0 : IP6L
© Eeedback T a—| 1: IP6S
s : L A : Resolver - ratio 0.5 Brake
W | with brake | gum) s # - G : Resolver - ratio 0.3 2. Withou! brake | g
] g::i_per';al:e Sl-nﬁl'emms?{ﬁgﬁ 5 . With brake 0 : Plain shaft
i 350 370 385 : Hiperface multiturn CWi 8
g [witwouh br® | fomy T - Hiperfate singlefurn SRS50 he W
g ] L U ¢ Hiperface multiturn SRMSO
P with brake (mm) 385 405 L20 V : Endaf singleturn ECN 1113
5 ;.’ : Endat ﬂ:ul?iiurﬂ EQN 1125
. : Low cost encoder
% withoul brake (mm) “o 430 445 Y : Sensorless
52
S| with brake |1 us 465 o ‘[GNNE[TIONS VARIANT ON SHEET 2/2
_ . Sheet : 1/2
cenerat  Pessie] 160909 | o0 [ vise (0355 /20 |ﬂr | —-=31-& EX800 Formal | F |E | S |G ]I
tolerances  [e T [aM 24607 26/06/16 SD 7 Echelle A3 x
D i3 ] x P =
= BN 25 | swseam | OUTLINE DRAWING | 344664
; _ 2168 MK |8 'a Tam 23304 10/12/09 SD D [AM 24677 27/04/17 TD : TS AR KR

V




FAN FAN
U : Phase U i ;
T [ nnection
U : Phase U _ Feedback lefter : R/S/T/U
W : Phase W
\ - Phase V
TH- : Thermic protector
W : Phase W icp
. - TH+ : Thermic protector
TH- : Thermic protector )
™ e gt BR- : Brake- (option)
+ : Thermic protector
pi I BR+ : Brake+ {option)

BR- : Brake- (option)
BR+ : Brake+ (option)
S1 : Resolver 1
S2 : Resolver 2
S3 : Resolver 3
SL : Resolver &
R1 : Resolver §
RZ : Resolver 6

B : Shield option (screw M&)

@ Ground

Scale : 273

51 = Los + S§2 = Sin + [R1 = Exitation +
53 = Cos - St = Sin - |R2 = Exitation -

Roter is rotating in clockwise viewed from shaft end view.

Certification -
INERIS OSATEXO0671X
INE 15.0060%

1 : Encoder Us
: Enceder gnd

refSIN

refC0S

DATA +

OATA -

+SIN

: Encoder +COS

: Shield option (screw Mi)

@ Ground

. Encoder
: Encoder

: Encoder

2

3

L

5 : Encoder
&

7 : Encoder
8
B

rellDs
Oata «

Data -

Scale : 273

U : Phase U

V : Phase ¥

W : Phase W

TH- : Thermic proftector
THe : Thermic profector
BR- : Brake- (option)
BR. : Brake. (option)

1 . Encoder up 5V £5%

. U : Phase U
tndat connection ol
Feedhack letter . V/W w'
: Phase W

TH- : Thermic protector
TH+ : Thermic protector
BR- : Brake- (option)
BR+ : Brake+ {opfion)

Sensorless ronnection
Feedhark letter : Y

2 : Encoder OV 1: 4 93l U+ Ph i
3 : Encoder A 20 AN 10 : UN N
4 : Encoder A- 3 o M.y V : Phase V
5 ; Encoder B- LB 7.V W : Phase W
: : En:ujer z-t 5.7 p— TH- : Thermic protector
: CNCoder Lara . =
8 : Encoder Dafa\ 6 1IN %o WA TH+ : Thermic profectar
. 7:0 BR- : Brake- (option)
9 ¢ Encoder Clock E )
10+ Encoder Clocky 8 vee s iahBe D
B : Shield option (screw M&) B : Shield option (screw M4) B : Shield option (screw M4) Ssis 97
@_ Ground Stale : 2/3 @ p— Stale : 2/3 @: Gratnd cale
ENCODER SFTTINGS
i Hiperface SKS/5KM sefting iperf. thi ndat i Ow [0St encoder setting
F k letter - A Feedback letter : R/S Eeedback |etter - T/U Feedback !e[[_etl ; VAW Eeedback letter . Em
Motor powered by direct Motor powered by direct Motor powered by direct Motor powered by direct Engine driven clockwise
current at the current current at the currant current at the current current at the currenf shaft end side. Switching
nominal value t‘ofr and V-). nominal value (W« and V-). nominal value (W« and V-). nominal value (W+ and V-). signal V is in phase with FEM
The shift 15 90" electrical. Value in encoder memory is 205. Value in encoder memory is 1638. Value in encoder memary is &10, uv.
- Sheef : 2/2
general  Pessine] 1620909 | op [ uise |o;/sj//7}|)-9’[?_f ) EXB00 Format | F | E | S |6 | I
tolerances [ [ [AM 24578 31,0117 TD ~ Echelle A3 [x|x
oiv 1sg |E[B [aM 26108 220613 SD ' 2.5 | s cs 0
2768 mK 18 M TAM23304 10/12/09 SD D |AM 24677 27/06/17 1D ! S TOMICCEIR OUTLINE DRAW ING 3LL664 0

V




